Identification of Peer Effects via a Root Estimator^{*}

Xiaodong Liu[†]

Department of Economics, University of Colorado Boulder

May, 2017

Abstract

By exploiting the correlation structure of individual outcomes in a network, we show that a carefully constructed root estimator can identify peer effects in linear social interaction models, when identification cannot be achieved via variation of group sizes or intransitivity of network connections. We establish the consistency and asymptotic normality of the root estimator under heteroskedasticity, and conduct Monte Carlo experiments to investigate its finite sample performance.

JEL classification: C31

Key words: complete networks; linear-in-means models; social interaction

^{*}I would like to thank the editor Badi H. Baltagi and an anonymous referee for helpful comments. All remaining errors are mine own.

[†]Department of Economics, University of Colorado Boulder, UCB 256, Boulder, CO 80309, USA. Email: xiaodong.liu@colorado.edu.

1 Introduction

Tremendous progress has been made in understanding identification of peer effects since the seminal work by Manski (1993) (see Blume et al., 2011, for a review). When individuals are randomly assigned into groups and social networks are formed within each group, identification of peer effects can be achieved via either variation of group sizes (see, e.g., Lee, 2007; Graham, 2008) or exclusion restrictions based on network topology (Bramoullé et al., 2009). However, if all groups are of the same size and every individual is equally influenced by all the other group members, then peer effects cannot be identified by the above methods. In this paper, we propose a root estimator that can be used to identify peer effects in such situations.

The idea of the root estimator traces back to Ord (1975), where it is used to estimate models of spatial interaction. In a recent paper, Jin and Lee (2012) generalize the original root estimator in Ord (1975) to estimate a more general class of spatial models. In this paper, we show that a carefully constructed root estimator, based on both linear and quadratic moment conditions of the error term, can identify peer effects in a linear-in-means model with equal-sized groups. We establish the root-n consistency and asymptotic normality of the root estimator under heteroskedasticity, and conduct Monte Carlo experiments to investigate its finite sample performance.

Of course, the usefulness of the root estimator is not limited to the specific network structure considered in this paper. Here, we focus on the linear-in-means model with equal-sized groups for two reasons. First, identification of peer effects in this situation cannot be achieved by existing methods. Second, data with equal-sized groups are not uncommon in the real world. For example, the capacity of college classes are often fixed over time. For a popular class with full enrollment every semester, its students in each semester form equal-sized groups.

The rest of the paper is organized as follows. Section 2 presents the linear-in-means model and discusses its identification issues. Section 3 introduces the root estimator and studies its asymptotic properties. Section 4 provides simulation results on the finite sample performance of the proposed estimator. Section 5 concludes. The proofs are collected in the online appendix. Throughout the paper, let \mathbf{I}_n denote an $n \times n$ identity matrix, $\boldsymbol{\iota}_n$ denote an $n \times 1$ vector of ones, and $\operatorname{diag}_{i=1}^n \{d_i\}$

denote an $n \times n$ diagonal matrix with the *i*-th diagonal element being d_i .

2 Linear-in-Means Social Interaction Model

Consider a sample of *n* equal-sized groups with $m \ (m \ge 2)$ individuals in each group. Then, in a linear-in-means social interaction model, the outcome, $y_{i,g}$, of individual *i* in the *g*-th group is given by

$$y_{i,g} = \lambda_0 \overline{y}_{i,g} + \mathbf{x}_{i,g} \boldsymbol{\beta}_0 + \overline{\mathbf{x}}_{i,g} \boldsymbol{\gamma}_0 + u_{i,g}, \qquad (2.1)$$

where $\mathbf{x}_{i,g}$ is a *p*-dimensional row vector of exogenous individual characteristics, and $u_{i,g}$ is a possibly heteroskedastic error term. In this model, $\overline{y}_{i,g} = \frac{1}{m-1} \sum_{j=1, j \neq i}^{m} y_{j,g}$ is the average outcome of the individuals (other than *i*) in the *g*-th group, with its coefficient λ_0 representing the *endogenous effect*; $\overline{\mathbf{x}}_{i,g} = \frac{1}{m-1} \sum_{j=1, j \neq i}^{m} \mathbf{x}_{j,g}$ is the vector of average characteristics of the individuals (other than *i*) in the *g*-th group, with its coefficient vector γ_0 representing *exogenous (contextual) effects*. It has been one of the main interests in the social interaction literature to separately identified endogenous and exogenous peer effects.

In matrix form, model (2.1) can be written as

$$\mathbf{y}_g = \lambda_0 \mathbf{A}_m \mathbf{y}_g + \mathbf{X}_g \boldsymbol{\beta}_0 + \mathbf{A}_m \mathbf{X}_g \boldsymbol{\gamma}_0 + \mathbf{u}_g, \quad \text{for } g = 1, \cdots, n, \quad (2.2)$$

where $\mathbf{y}_g = (y_{1,g}, \dots, y_{m,g})'$, $\mathbf{X}_g = (\mathbf{x}'_{1,g}, \dots, \mathbf{x}'_{m,g})'$, $\mathbf{u}_g = (u_{1,g}, \dots, u_{m,g})'$, and \mathbf{A}_m is an adjacency matrix given by $\mathbf{A}_m = \frac{1}{m-1}(\boldsymbol{\iota}_m\boldsymbol{\iota}'_m - \mathbf{I}_m)$. We allow for heteroskedasticity of unknown form and assume \mathbf{u}_g are independently distribution across g with $\mathbf{E}(\mathbf{u}_g|\mathbf{X}_g) = \mathbf{0}$ and $\mathbf{E}(\mathbf{u}_g\mathbf{u}'_g|\mathbf{X}_g) = \mathbf{\Sigma}_g \equiv \operatorname{diag}_{i=1}^m \{\sigma_{i,g}^2\}$. We assume $|\lambda_0| < 1$. Then, the reduced form of (2.2) is

$$\mathbf{y}_g = (\mathbf{I}_m - \lambda_0 \mathbf{A}_m)^{-1} (\mathbf{X}_g \boldsymbol{\beta}_0 + \mathbf{A}_m \mathbf{X}_g \boldsymbol{\gamma}_0 + \mathbf{u}_g) = \sum_{k=1}^{\infty} \lambda_0^{k-1} \mathbf{A}_m^{k-1} (\mathbf{X}_g \boldsymbol{\beta}_0 + \mathbf{A}_m \mathbf{X}_g \boldsymbol{\gamma}_0 + \mathbf{u}_g).$$
(2.3)

In the current literature, identification of peer effects is usually achieved through either variation of group sizes (see, e.g., Lee, 2007; Graham, 2008) or exclusion restrictions based on network topology (Bramoullé et al., 2009).

Lee (2007) show that, for linear-in-means models, endogenous and exogenous effects can be identified if group sizes have sufficient variation. However, this identification strategy does not work in our case as all groups in the sample have the same size.

Bramoullé et al. (2009) show that if the matrices $\mathbf{I}_m, \mathbf{A}_m, \mathbf{A}_m^2$ are linearly independent, then the exogenous characteristics of indirect connections given by $\mathbf{A}_m^2 \mathbf{X}_g$ can be used as instrumental variables for the outcomes of direct connections $\mathbf{A}_m \mathbf{y}_g$ to identify the endogenous effect from the exogenous effect. The linear independence of $\mathbf{I}_m, \mathbf{A}_m, \mathbf{A}_m^2$ is satisfied, if intransitivity exists in a network such that two individuals, who share a common connection/friend, are not directly connected. In our case, the adjacency matrix $\mathbf{A}_m = \frac{1}{m-1}(\boldsymbol{\iota}_m \boldsymbol{\iota}_m' - \mathbf{I}_m)$ corresponds to a complete network where all individuals are directly connected. It is easy to see $\mathbf{A}_m^2 = \frac{1}{m-1}\mathbf{I}_m + \frac{m-2}{m-1}\mathbf{A}_m$ is linearly dependent on \mathbf{I}_m and \mathbf{A}_m .

As the linear-in-means model (2.1) with equal-sized groups cannot be identified by the above methods, it is sometimes given as an example of the *reflection problem* (Manski, 1993), referring to the failure to separately identify endogenous and exogenous effects. In the following, we show that this model actually can be identified via a root estimator.

3 Root Estimator

3.1 Asymptotic Identification

We assume that we observe an independently distributed sample of $(\mathbf{y}_g, \mathbf{X}_g)$ of size n from a population of equal-sized groups. Therefore, in the asymptotic analysis, we keep the group size m fixed and let the number of groups n go to infinity. Let $\mathbf{u}_g(\theta) = \mathbf{y}_g - \lambda \mathbf{A}_m \mathbf{y}_g - \mathbf{X}_g \beta - \mathbf{A}_m \mathbf{X}_g \gamma$, where $\theta = (\lambda, \beta', \gamma')'$. The root estimator of θ is based on the linear moment functions $\mathbf{f}_{1,g}(\theta) = [\mathbf{X}_g, \mathbf{A}_m \mathbf{X}_g]' \mathbf{u}_g(\theta)$, and the quadratic moment function $f_{2,g}(\theta) = \mathbf{u}_g(\theta)' \mathbf{A}_m \mathbf{u}_g(\theta)$. The quadratic moment function structure of individual outcomes in a network. Let $\mathbf{f}_{1,\infty}(\theta) = \lim_{n\to\infty} n^{-1} \sum_{g=1}^n \mathrm{E}[\mathbf{f}_{1,g}(\theta)]$ and $f_{2,\infty}(\theta) = \lim_{n\to\infty} n^{-1} \sum_{g=1}^n \mathrm{E}[f_{2,g}(\theta)]$. For θ to be asymptotically identified, the moment equations $\mathbf{f}_{\infty}(\theta) \equiv [\mathbf{f}_{1,\infty}(\theta)', f_{2,\infty}(\theta)]' = \mathbf{0}$ need to have

a unique solution at the true parameter vector $\boldsymbol{\theta}_0 = (\lambda_0, \boldsymbol{\beta}'_0, \boldsymbol{\gamma}'_0)'$ (Definition 5.2 in Davidson and MacKinnon, 1993). As we assume $\mathrm{E}(\mathbf{u}_g|\mathbf{X}_g) = \mathbf{0}$ and $\mathrm{E}(\mathbf{u}_g\mathbf{u}'_g|\mathbf{X}_g) = \boldsymbol{\Sigma}_g \equiv \mathrm{diag}_{i=1}^m \{\sigma_{i,g}^2\}$, it follows that $\mathrm{E}[\mathbf{f}_{1,g}(\boldsymbol{\theta}_0)] = \mathbf{0}$ and $\mathrm{E}[f_{2,g}(\boldsymbol{\theta}_0)] = \mathrm{tr}(\mathbf{A}_m\boldsymbol{\Sigma}_g) = 0$. Hence, $\boldsymbol{\theta}_0$ is a solution of $\mathbf{f}_{\infty}(\boldsymbol{\theta}) = \mathbf{0}$. What is left to show is that $\boldsymbol{\theta}_0$ is the only solution.

As $\mathbf{A}_m^2 = \frac{1}{m-1}\mathbf{I}_m + \frac{m-2}{m-1}\mathbf{A}_m$, it follows from the reduced form (2.3) that $\mathbf{E}(\mathbf{A}_m\mathbf{y}_g|\mathbf{X}_g)$ is linearly dependent on \mathbf{X}_g and $\mathbf{A}_m\mathbf{X}_g$, such that $\mathbf{E}(\mathbf{A}_m\mathbf{y}_g|\mathbf{X}_g) = \mathbf{X}_g\mathbf{c}_1 + \mathbf{A}_m\mathbf{X}_g\mathbf{c}_2$, where $\mathbf{c}_1, \mathbf{c}_2$ are $p \times 1$ vectors of constants. Then, $\mathbf{f}_{1,\infty}(\boldsymbol{\theta}) = \mathbf{0}$ implies

$$\lim_{n \to \infty} n^{-1} \sum_{g=1}^{n} \mathrm{E}([\mathbf{X}_g, \mathbf{A}_m \mathbf{X}_g]' [\mathbf{X}_g, \mathbf{A}_m \mathbf{X}_g]) \begin{bmatrix} (\lambda_0 - \lambda) \mathbf{c}_1 + \boldsymbol{\beta}_0 - \boldsymbol{\beta} \\ (\lambda_0 - \lambda) \mathbf{c}_2 + \boldsymbol{\gamma}_0 - \boldsymbol{\gamma} \end{bmatrix} = 0$$

If $\lim_{n\to\infty} n^{-1} \sum_{g=1}^{n} \mathbb{E}([\mathbf{X}_g, \mathbf{A}_m \mathbf{X}_g]'[\mathbf{X}_g, \mathbf{A}_m \mathbf{X}_g])$ has full column rank, then the solution of $\mathbf{f}_{1,\infty}(\boldsymbol{\theta}) = \mathbf{0}$ is given by

$$\boldsymbol{\beta} = \boldsymbol{\beta}_0 + (\lambda_0 - \lambda) \mathbf{c}_1$$
 and $\boldsymbol{\gamma} = \boldsymbol{\gamma}_0 + (\lambda_0 - \lambda) \mathbf{c}_2.$ (3.1)

Substitution of (3.1) into $f_{2,\infty}(\boldsymbol{\theta}) = 0$ gives

$$(\lambda_0 - \lambda) \lim_{n \to \infty} n^{-1} \sum_{g=1}^n 2 \operatorname{tr}(\mathbf{A}_m \mathbf{G}_m \boldsymbol{\Sigma}_g) + (\lambda_0 - \lambda)^2 \lim_{n \to \infty} n^{-1} \sum_{g=1}^n \operatorname{tr}(\mathbf{G}_m \mathbf{A}_m \mathbf{G}_m \boldsymbol{\Sigma}_g) = 0, \quad (3.2)$$

where $\mathbf{G}_m = \mathbf{A}_m (\mathbf{I}_m - \lambda_0 \mathbf{A}_m)^{-1}$. Equation (3.2) is quadratic in λ , and has two roots given by

$$\lambda = \lambda_0 + \frac{\lim_{n \to \infty} n^{-1} \sum_{g=1}^n \operatorname{tr}(\mathbf{A}_m \mathbf{G}_m \boldsymbol{\Sigma}_g) \pm \sqrt{[\lim_{n \to \infty} n^{-1} \sum_{g=1}^n \operatorname{tr}(\mathbf{A}_m \mathbf{G}_m \boldsymbol{\Sigma}_g)]^2}}{\lim_{n \to \infty} n^{-1} \sum_{g=1}^n \operatorname{tr}(\mathbf{G}_m \mathbf{A}_m \mathbf{G}_m \boldsymbol{\Sigma}_g)}$$

To know which root is consistent, i.e., $\lambda = \lambda_0$, we need to know the sign of $\lim_{n \to \infty} n^{-1} \sum_{g=1}^n \operatorname{tr}(\mathbf{A}_m \mathbf{G}_m \mathbf{\Sigma}_g)$. As $|\lambda_0| < 1$ and $m \ge 2$, it follows that $\lim_{n \to \infty} n^{-1} \sum_{g=1}^n \operatorname{tr}(\mathbf{A}_m \mathbf{G}_m \mathbf{\Sigma}_g) = \lim_{n \to \infty} n^{-1} \sum_{g=1}^n (1 - \lambda_0)^{-1} (m + \lambda_0 - 1)^{-1} \sum_{i=1}^m \sigma_{i,g}^2 > 0$. Hence, the consistent root is given by

$$\lambda = \lambda_0 + \frac{\lim_{n \to \infty} n^{-1} \sum_{g=1}^n \operatorname{tr}(\mathbf{A}_m \mathbf{G}_m \mathbf{\Sigma}_g) - \sqrt{\left[\lim_{n \to \infty} n^{-1} \sum_{g=1}^n \operatorname{tr}(\mathbf{A}_m \mathbf{G}_m \mathbf{\Sigma}_g)\right]^2}}{\lim_{n \to \infty} n^{-1} \sum_{g=1}^n \operatorname{tr}(\mathbf{G}_m \mathbf{A}_m \mathbf{G}_m \mathbf{\Sigma}_g)}.$$
 (3.3)

With λ uniquely determined by (3.3), β and γ can be identified by (3.1).

3.2 Explicit Formula and Asymptotic Properties

Following the above discussion, the root estimator $\widehat{\boldsymbol{\theta}} = (\widehat{\lambda}, \widehat{\boldsymbol{\beta}}', \widehat{\boldsymbol{\gamma}}')'$ satisfies

$$n^{-1}\sum_{g=1}^{n}\mathbf{f}_{1,g}(\widehat{\boldsymbol{\theta}}) = \mathbf{0}$$
(3.4)

$$n^{-1} \sum_{g=1}^{n} f_{2,g}(\widehat{\theta}) = 0$$
(3.5)

Let $\mathbf{y} = (\mathbf{y}'_1, \cdots, \mathbf{y}'_n)'$, $\mathbf{X} = (\mathbf{X}'_1, \cdots, \mathbf{X}'_n)'$, and $\mathbf{A} = \mathbf{I}_n \otimes \mathbf{A}_m$, where \otimes denotes the Kronecker product. From (3.4),

$$(\widehat{\boldsymbol{\beta}}', \widehat{\boldsymbol{\gamma}}')' = (\mathbf{Z}'\mathbf{Z})^{-1}\mathbf{Z}'(\mathbf{y} - \widehat{\lambda}\mathbf{A}\mathbf{y}), \qquad (3.6)$$

where $\mathbf{Z} = [\mathbf{X}, \mathbf{A}\mathbf{X}]$. Substitution of (3.6) into (3.5) gives

$$\mathbf{y'MAMy} - 2\widehat{\lambda}\mathbf{y'AMAMy} + \widehat{\lambda}^2 \mathbf{y'AMAMAy} = 0$$
(3.7)

where $\mathbf{M} = \mathbf{I}_{mn} - \mathbf{Z}(\mathbf{Z}'\mathbf{Z})^{-1}\mathbf{Z}'$. Equation (3.7) is quadratic in $\hat{\lambda}$. As discussed in the previous subsection, the consistent root of (3.7) is

$$\widehat{\lambda} = \frac{\mathbf{y'} \mathbf{A} \mathbf{M} \mathbf{A} \mathbf{M} \mathbf{y} - \sqrt{(\mathbf{y'} \mathbf{A} \mathbf{M} \mathbf{A} \mathbf{M} \mathbf{y})^2 - (\mathbf{y'} \mathbf{M} \mathbf{A} \mathbf{M} \mathbf{y})(\mathbf{y'} \mathbf{A} \mathbf{M} \mathbf{A} \mathbf{M} \mathbf{A} \mathbf{y})}{\mathbf{y'} \mathbf{A} \mathbf{M} \mathbf{A} \mathbf{M} \mathbf{A} \mathbf{y}}.$$
(3.8)

To study the asymptotic properties of the root estimator $\hat{\theta}$ defined in (3.6) and (3.8), we maintain the following assumptions.

- **A1.** $|\lambda_0| < 1$. *m* is a fixed constant such that $m \ge 2$ and $m \ne 2(1 \lambda_0)$.
- **A2.** The error term $u_{i,g}$ is independently distributed with $E(u_{i,g}) = 0$, $E(u_{i,g}^2) = \sigma_{i,g}^2$, and $\sup_{1 \le i \le m, 1 \le g \le n, n \ge 1} E|u_{i,g}^{4+\eta}| < \infty$ for some $\eta > 0$.
- A3. The elements of **X** are uniformly bounded. $\lim_{n\to\infty} n^{-1} \mathbf{Z}' \mathbf{Z}$ is finite and nonsingular.

All these assumptions are standard in the spatial econometrics literature (see, e.g., Kelejian and Prucha, 2010), except the second part of Assumption A1. We assume $m \neq 2(1 - \lambda_0)$ so that $\operatorname{plim}_{n\to\infty} n^{-1}\mathbf{y}'\mathbf{AMAMAy} \neq 0$. As $|\lambda_0| < 1$, a sufficient condition for $m \neq 2(1 - \lambda_0)$ is $m \geq 4$. Under the above regularity conditions, the following proposition establishes the consistency and asymptotic normality of the root estimator. Let $\mathbf{\Sigma} = \operatorname{diag}_{g=1}^n \{\mathbf{\Sigma}_g\}$ and $\mathbf{G} = \mathbf{A}(\mathbf{I}_{mn} - \lambda_0 \mathbf{A})^{-1}$.

Proposition 3.1. Under Assumptions A1-A3, the root estimator $\widehat{\boldsymbol{\theta}}$ is consistent and $\sqrt{n}(\widehat{\boldsymbol{\theta}} - \boldsymbol{\theta}_0) \xrightarrow{d} N(\mathbf{0}, \lim_{n \to \infty} \mathbf{D}^{-1} \mathbf{\Omega} \mathbf{D}'^{-1})$ where

$$oldsymbol{\Omega} = \operatorname{Var}(n^{-1/2}\sum_{g=1}^n \mathbf{f}_g(oldsymbol{ heta}_0)) = n^{-1} \left[egin{array}{cc} \mathbf{Z}' \mathbf{\Sigma} \mathbf{Z} & \mathbf{0} \ \mathbf{0} & 2\operatorname{tr}(\mathbf{\Sigma} \mathbf{A} \mathbf{\Sigma} \mathbf{A}) \end{array}
ight]$$

and

$$\mathbf{D} = -\mathbf{E}(n^{-1}\sum_{g=1}^{n}\frac{\partial \mathbf{f}_{g}(\boldsymbol{\theta}_{0})}{\partial \boldsymbol{\theta}'}) = n^{-1} \begin{bmatrix} \mathbf{Z}'\mathbf{G}(\mathbf{X}\boldsymbol{\beta}_{0} + \mathbf{A}\mathbf{X}\boldsymbol{\gamma}_{0}) & \mathbf{Z}'\mathbf{Z} \\ 2\mathrm{tr}(\mathbf{\Sigma}\mathbf{A}\mathbf{G}) & \mathbf{0} \end{bmatrix}$$

4 Monte Carlo Experiments

To investigate the finite sample performance of the proposed root estimator, we conduct some Monte Carlo simulations. The data generating process is

$$y_{i,g} = \lambda_0 \overline{y}_{i,g} + \beta_0 x_{i,g} + \gamma_0 \overline{x}_{i,g} + u_{i,g}, \tag{4.1}$$

for $i = 1, \dots, m$ and $g = 1, \dots, n$, where $\lambda_0 = 0.3$, $\beta_0 = \gamma_0 = 1.0$, and $x_{i,g}$ and $u_{i,g}$ are generated as $x_{i,g} \sim \text{iid.} N(0, 1)$ and $u_{i,g} \sim \text{inid.} N(0, \sigma_{i,g}^2)$. We set $\sigma_{i,g}^2 = 3$ if $x_{i,g} > 0$ and $\sigma_{i,g}^2 = 1$ otherwise. We experiment with different m and n.

The mean and standard deviation (SD) of the empirical distributions of the estimates from 1000 simulation repetitions are reported in Table 4.1. When the sample size n is small, $\hat{\lambda}$ is downwards biased and $\hat{\gamma}$ is upwards biased. The bias reduces as the sample size increases. The standard deviation also reduces as the sample size increases. It is worth noting that, the biases and standard deviations of $\hat{\lambda}$ and $\hat{\gamma}$ increase with the group size m, especially when n is small. This observation

	$\lambda_0 = 0.3$	$\beta_0=1.0$	$\gamma_0 = 1.0$
		m = 5	
n = 25	0.277(0.103)	1.012(0.142)	1.067(0.368)
n = 50	0.289(0.067)	1.005(0.094)	1.020(0.248)
n = 100	0.294(0.048)	1.000(0.068)	1.011(0.175)
n = 200	0.296(0.035)	1.002(0.047)	1.012(0.124)
		m = 20	
n = 25	0.261(0.111)	1.001(0.065)	1.090(0.432)
n = 50	0.282(0.072)	1.001(0.045)	1.051(0.288)
n = 100	0.293(0.049)	1.000(0.032)	1.016(0.196)
n = 200	0.294(0.036)	1.001(0.022)	1.016(0.139)
Mean(SD)			

Table 4.1: Monte Carlo Simulation Results

is consistent with the theoretical result in Lee (2004) that the quasi-maximum likelihood estimator of model (4.1), without the contextual effect regressor $\overline{x}_{i,g}$, is likely to be inconsistent when m is large relative to the sample size.

5 Conclusion

This paper offers a new perspective for identification of peer effects, by exploiting the correlation structure of individual outcomes in a network. The proposed root estimator achieves asymptotic identification without relying on variation of group sizes or intransitivity of network connections. The root estimator is consistent and asymptotic normal under heteroskedasticity. Monte Carlo experiments show that the estimator performs well in finite samples.

To illustrate our main point, we make some simplifying assumptions. For example, we assume assignment of individuals to groups is random. This assumption can be relaxed, if the endogenous selection into groups can be controlled for using a Heckman-type correction (see Horrace et al., 2016). We leave the asymptotic properties of the root estimator with a Heckman-type selectionbias correction for future research.

References

- Blume, L. E., Brock, W. A., Durlauf, S. N. and Ioannides, Y. M. (2011). Identification of social interactions, in J. Benhabib, A. Bisin and M. O. Jackson (eds), Handbook of Social Economics, Vol. 1B, North-Holland, pp. 855–966.
- Bramoullé, Y., Djebbari, H. and Fortin, B. (2009). Identification of peer effects through social networks, *Journal of Econometrics* **150**: 41–55.
- Davidson, R. and MacKinnon, J. G. (1993). Estimation and inference in econometrics, Oxford University Press, New York and Oxford.
- Graham, B. S. (2008). Identifying social interactions through conditional variance restrictions, *Econometrica* 76: 643–660.
- Horrace, W., Liu, X. and Patacchini, E. (2016). Endogenous network production functions with selectivity, *Journal of Econometrics* 190: 222–232.
- Jin, F. and Lee, L. F. (2012). Approximated likelihood and root estimators for spatial interaction in spatial autoregressive models, *Regional Science and Urban Economics* 42: 446–458.
- Kelejian, H. H. and Prucha, I. R. (2010). Specification and estimation of spatial autoregressive models with autoregressive and heteroskedastic disturbances, *Journal of Econometrics* 157: 53–67.
- Lee, L. F. (2004). Asymptotic distributions of quasi-maximum likelihood estimators for spatial econometric models, *Econometrica* **72**: 1899–1926.
- Lee, L. F. (2007). Identification and estimation of econometric models with group interactions, contextual factors and fixed effects, *Journal of Econometrics* **140**: 333–374.
- Manski, C. F. (1993). Identification of endogenous social effects: the reflection problem, *The Review* of *Economic Studies* **60**: 531–542.
- Ord, J. (1975). Estimation methods for models of spatial interaction, Journal of the American Statistical Association 70: 120–126.